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1 TDN in vivo

, Slope
2
0 R Bias( (
NRCO1 D 2 NRCO1L D 2) NRCOL D 2)
33 0.87 0.84 -3.06 -4.63 0.58 0.72
9 0.28 0.76 3.10 1.93 0.44 0.77
25 0.76 0.81 -0.87 -6.92 0.78 0.51
58 0.83 0.82 -2.12 -5.08 0.64 0.73
67 0.74 0.72 -1.42 -4.14 0.58 0.66
1) TDN=tdNFC+tdCP+(tdFA>=<2.25 +tdNDF-7
2) TDN= -5.45+0.89>< (0CC+0a)+0.45><0CW, TDN =1.021>< O0CC+0a +0.498>=<0b-16.1
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TON NRCO1
NRCO1 TDNm = toNFC + tdCP + (tdFA><2.25) + tdNDF - 7
td\FC = 0.98>< 100 - NDF - NDICP + CP + EE + Ash
tdCP = CP><exp -1.2><ADICP CP
tdFA = EE -1 EE<1 FA=0
tdNDF = 0.75><[(NDF_- NDICP) - ADL]> 1 - [ADL/(NDF - NDICP)]*%'
td truly digestible m : maintenance
NDF-NDICP = 1.075><(OCW - ADICP) - 9.11 ( n=150,R%=0.97)
ADL = 0.1168<EXP 0.0419%<0b  (%0CW) ( , R=0.55)
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